Division Date: Name:

Dividing decimal numbers and rounding http://www.learnersgrid.com
Copy and complete each problem below. Set your working out clearly as you have been shown.

Round to 1 d.p.

[1] 7775 + 11 = [2] 895 + 3 = [83] 9952 +5-=

[4] 7061 + 9 = [5] 74151 + 4 = [6] 78361 +5 =
Round to 2 d.p.

[7] 960.96 + 10

[8] 1027.95 + 5 = [9] 1074.12 + 3 =

[10] 549.88 + 4 = [11] 610.07 + 3 [12] 658.01 + 6
Round to 3 d.p.

[13] 781.29 + 11

[14] 845.78 + 5

[15] 969.23 + 5

[16] 723 + 9 = [17] 836 + 4 = [18] 878 + 4 =



ANSWERS
Division Dividing decimal numbers and rounding

Copy and complete each problem below. Set your working out clearly as you have been shown.
Round to 1 d.p.

[1] 7775 + 11 = 2] 895+ 3 = [3] 9952 + 5 =
70.7 298.3 199.0

4] 706.1 +9 = [5] 74151 + 4 = [6] 783.61 + 5 =
78.5 185.4 156.7

Round to 2 d.p.

[7] 960.96 + 10 = [8] 1027.95 + 5 = [9] 1074.12 + 3 =
96.10 205.59 358.04

[10] 549.88 + 4 = [11] 610.07 = 3 = [12] 658.01 + 6 =
137.47 203.36 109.67

Round to 3 d.p.

[13] 781.29 + 11 = [14] 845.78 + 5 = [15] 969.23 + 5 =
71.026 169.156 193.846

[16] 723 + 9 = [17] 836 = 4 = [18] 878 = 4 =
80.333 209.000 219.500



